SOLUCIONARIO / Clase 9

Actividad 1
nses () & o o= - &
2 182=() = 2 5) (=)= 1
) =) - 55 0 @)= 5
Actividad 2

Veamos ahora como calculamos los siguientes ejercicios.

1) aE.hi!r.ﬂB _ 33 bll EB . hﬂz . ‘1b 3
atb3.c5 a*t b3 ¢S5  a a €
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btc5 1 bt 5 ¢

Cierre:

1.D
2.C
3.A

SOLUCIONARIO / Clase 10

Actividad 1




SOLUCIONARIO / Clase 11

Actividad 1
1\? _ 2 (l)'3 - 343
1) (6) =36 ) - 2
Actividad 2
22 8_f 30 -9yt 9
a. (3) b.(-043) = (-3 () =—10

SOLUCIONARIO / Clase 12

Actividad 1
1)1 2)1
Actividad 2
2\3\° [-2\®  -32768 1V 1\ .
1’((3))‘(3) T 14348907 2)((?))‘(?)‘3‘6561

SOLUCIONARIO / EVALUACION
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